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1. Cost driver is

A) a resource has to be paid in order to achieve a particular objective.
B) an activity that affects costs to increase as the activity increases.
C) an accounting techniques used to collect cost data.

D) an amount is related to the particular activities.

2. The cost of managing customer complaints is included under which of the following categories?
A) appraisal costs B) external failure costs

) internal failure costs D) prevention costs

3. The following information pertains to MCU Company for the current year:

Sales $22,000,000
Appraisal costs 275,000
Cost of goods sold 6,600,000
External failure costs 440,000
Internal failure costs 660,000
Prevention costs 110,000

Quality costs are what percentage of sales?
A) 3.00 percent B) 5.00 percent
C) 6.75 percent D) 36.75 percent

4. As machines have replaced people, ceteris paribus, overhead costs have become a part of total

manufacturing cost.
A) larger B) smaller

C) equal D) no influence

5. MCU Industries produces two products. The products costs would be classified as follows:

Product Sun Product Sky
Direct Materials £15,000 £30,000
Direct Labor £18,000 £36,000

The company’s overhead costs of £48,000 are allocated based on labor cost. What amount of production
costs would be assigned to Product Sun?

A)  £16,000
C) £49,000

B) £32,000
D) £98,000
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6. The Grant Company estimates for the 2014 accounting period that its overhead costs will amount to
£420,000 and that it will work 60,000 direct labor hours. If actual overhead costs for the year amounted
to £645,000 and actual labor hours amounted to 90,000, then overhead would be

A) overapplied by £40,000.
B) underapplied by £15,000.
C) overapplied by £15,000.
D) unerapplied by £40,000.

7. Once sales come to the breakeven point then an additional unit sold will
A) decrease fixed cost by a proportionate amount.
B) increase the company’s selling expenses.
C) increase profit by an amount equal to the per unit contribution margin.
D) increase the company's operating costs.

8. K-I Company's break-even point is 13,000 units. Its product sells for £27 and has a £10 variable cost per
unit. What is the company's total fixed cost amount?
A) £120,000 B) £180,000 C) £200,000 D) £221,000

9. HHW Inc. has reported a negative profit in three years. This year the company estimates its loss to £5,000.
Assuming its selling price is £39 per unit and its variable costs per unit are £24, how many units must be
sold to achieve its target given that total fixed costs are £50,000?

A) 3,000 B) 3,667 C) 4,000 D) 4,200
10. A balanced scorecard is a set of

A) performance measures. B) financial statements.

C) budget schedules. D) cost evaluations.

— ~ Pinka Company is in the process of preparing its cash budget for next quarter. Merchandise purchases
are to be made during the month preceding the month of the cost of goods sold. Pinka pays 60 percent
in the month of purchase and 40 percent in the month following. Wages are estimated at 20 percent of
sales and are paid during the month of sale. Other operating costs amounting to 10 percent of sales are
to be paid in the month following the sale.

Month Sales Revenue Cost of Goods Sold
December £170,000 £102,000
January 200,000 120,000
February 120,000 72,000
March 150,000 90,000
April 160,000 96,000

Required: Prepare a schedule of cash disbursements for January, February, and March. (24%)
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1~ SFaE R EIER EMRATATIRME LR TP > He B A E N 2 R AR 2 (11%)
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7 ~ Oneness Manufacturing Company recorded the following cost data for the month of March:

ERCIEY IR .o oo orbomanirsinineis A £3,000

FROlOrY INRHOR. .. .. . oo iovianvaisiaisivaine 500

Transportation-in (shipping)................ 2,500

Sales éommissions .......................... 12,000 P —————t
Wages of production employees.......... 30,000 BN SR ERK
Administrative salaries...................... 2,800 E_d.n.'.f d ir_;_t_;-.d Ny ( _3
Direct materials used...........cccoevvnnn. 53,000

Depreciation on factory machines.......... 1,200

Depreciation on sales office................... 300

Required: Based upon this information, what is the manufacturing cost incurred during the month? (5%)
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4. ~ Saint-J Manufacturing Company has two departments, Assembly and Finishing. Consider the following
data for the Finishing Department for April 2014: (Please calculate the answers based on the weighted
average costing method)

Units Transferred-in ~ Direct Material Direct Labor Overhead Total

Beginning
work-in-process
Units transferred in
Unit completed

Ending work in 20,000
process

Costs added 6,250 £180,000 £50,000 £30,000 £40,000 £300,000

Cost per equivalent
unit

£75,000

£15

Required: (25%)

1. Compute the equivalent units for the Finishing Department.

2. Compute the equivalent units for the department's ending inventory.

3. At what state of completion (percentage) are the units in the department's ending inventory?
4. Compute the amount of cost that should be transferred out.

5. Compute the cost that should be assigned to the department's ending inventory
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End of exam




